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Find the missing dividends. Then solve the riddle 
by matching the letters to the blank lines below.

Why do sharks only swim in salt water?

81
M

45 63 49 54 27

Because EP P RE
32 42

P
35 24 36 28

30 12 7 48
E

569

____  --:--  8 = 8M

____  --:--  3 = 3Z

____  --:--  7 = 9K

____  --:--  9 = 3H

____  --:--  9 = 9A

____  --:--  3 = 8P

T M
21 64
E

40
S

N

____  --:--  5 = 8S

____  --:--  5 = 7P

____  --:--  6 = 9T

____  --:--  4 = 9E

____  --:--  2 = 6N

Salt Water Sharks

____  --:--  6 = 8E

____  --:--  3 = 7E

____  --:--  7 = 4R

____  --:--  7 = 8E

____  --:--  7 = 7E

____  --:--  6 = 7E

____  --:--  4 = 8P____  --:--  9 = 5M

____  --:--  6 = 5S

____  --:--  1 = 7E
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ANSWER KEY
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Find the missing dividends. Then solve the riddle 
by matching the letters to the blank lines below.

Division Basic Facts - Missing Dividends

Why do sharks only swim in salt water?

81
M

45 63 49 54 27

Because EP P RE
32 42

P
35 24 36 28

30 12 7 48
E

569

____  --:--  8 = 864M

9____  --:--  3 = 3Z

63____  --:--  7 = 9K

27____  --:--  9 = 3H

81____  --:--  9 = 9A

24____  --:--  3 = 8P

T M
21 64
E

40
S

N

40____  --:--  5 = 8S

35____  --:--  5 = 7P

54____  --:--  6 = 9T

36____  --:--  4 = 9E

12____  --:--  2 = 6N

Salt Water Sharks

____  --:--  6 = 8E 48

____  --:--  3 = 7E 21

____  --:--  7 = 4R 28

____  --:--  7 = 8E 56

____  --:--  7 = 7E 49

____  --:--  6 = 7E 42

____  --:--  4 = 8P 32____  --:--  9 = 5M 45

____  --:--  6 = 5S 30

____  --:--  1 = 7E 7


